Algebra 2

Ch. 5 Handout 5.7 Completing the Square

Completing the Square is a process for

Steps to solving a quadratic equations by Completing the Square

- 1. Set Quadratic Equation equal to zero.
- 2. Move constant to other side. $\Box T + LT = C$
- 3. If $a \ne 1$ divide through by a.
- 4. Take $\left(\frac{1}{2}\left(\frac{b}{a}\right)\right)^2$ and add to both sides.
- 5. Factor left side and simplify right side.
- 6. Take the square root of both sides
- 7. Simplify each side.
- 8. Solve for x.

Solve the quadratic equation.

$$x^{2} + 6x + 12 = 0$$

$$x^{2} + 6x + (3)^{2} = -12 + (3)^{2}$$

$$x^{2} + 6x + (3)^{2} = -12 + (3)^{2}$$

$$(x + 3)(x + 3) = -12 + 9$$

$$(x + 3)(x + 3) = -12 + 9$$

$$(x + 3)(x + 3) = -12 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

$$(x + 3)(x + 3)(x + 3) = -13 + 9$$

Solve the quadratic equation.

$$x^{2} - 12x + 36 = 9$$

$$x^{2} - 12x + (\omega)^{2} = -27 + (\omega)^{2}$$

$$(x - \omega)(x - \omega) = -27 + 3\omega$$

$$\sqrt{(x - \omega)^{2}} = \pm 9$$

$$x - \omega = \pm 3$$

$$x = \omega + 3$$

$$x = \omega + 3$$

$$x = \omega + 3$$

Solve the quadratic equation.

$$2x^{2} = -7x + 1$$

$$2x^{2} + 7x = -\frac{1}{2}$$

$$x^{2} +$$